I can't run  the code "varmc.for" under windows xp on my p.c. 
If it is possible ,please help me to convert  the code by replacing the timing routines to run  it under windows xp on my p.c.

  Or by converting the code to strict ANSI-standard FORTRAN 77 ,90 or C since the program uses complex*16 arithmetic which is not available in ANSI-standard FORTRAN 77 and will not be supported by a p.c. (technical note of the code)

After running using the compiler (Digital Visual Fortran 5.0)
I receive these messages

Compiling Fortran...
H:\phys.lanl.gov\varmc.for
H:\phys.lanl.gov\varmc.for(698) : Info: Two-digit year return value may cause problems with the year 2000.  Use DATE_AND_TIME instead   [DATE]

      call date(thedat)

-----------^

Linking...

varmc.obj : error LNK2001: unresolved external symbol _LIB$INIT_TIMER@0
varmc.obj : error LNK2001: unresolved external symbol _LIB$STAT_TIMER@8
Debug/varmc.exe : fatal error LNK1120: 2 unresolved externals
Error executing link.exe.

varmc.exe - 3 error(s), 0 warning(s)
Best regards

Gawish

